How can we find out which Is the heaviest and which Is the lightest?

5
351 How could we be certain of which of
these are the heaviest.
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g > gram

kg = kilogram )7

Which of the two units of 5
measurements weighs the most?
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| Using a weighing scale would help us
determine which is the heaviest.
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We use welghing scales.

The bag of crisps welghs about 200 g.

200g
- Tkg
°Q‘ The watermelon welghs about 1 kg. We say the mass of
’ the bag of sugar Is
5 about 3kg.

The bag of sugar welighs about 3 kg.

S o 3kg
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First we need to make
them all the same
unit of measure.

Lets change them so
that they are all
measured in grams!

5. | Which is the heaviest and which is the lightest?|

6" D3)7 b1Y4.0£297E 51/114731/3 :al,l'




1 x 1000 =

The watermelon welghs about 1 kg.

| So how many grams does the watermelon weigh?
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3 x 1000 =

The bag of sugar welghs about 3 kg.
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The watermelon weighs about 1kg. mmmm 1 0009

The bag of sugar welghs about 3kg. 3000 g

5_ | Which is the heaviest and which is the lightest?
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Watch "Video 2”

(@) (b)
The apple weighs about 100 g The packet of flour weighs
about 400 9-
Which item is the
8 - @ heaviest?
>
5[ Which item is the
2 lightest?

71 ‘ The box welghs about = 2 kg. The bag of sugar welighs
5 about 2 kg.
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Convert all the measurements into grams and
put each item in order from heaviest to lightest.
1
d

(@) The cabbage welghs
about 450 o

about 2 kg.

(c) The bag of potatoes weighs
about| 5 kg

You can download
these off the Virtual




5 How many grams would 2 bags of flour and 3 bags of carrots
7 ‘i weigh in total? M" :

Bag of carrots = 500g
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